VI s BbICTPOCBEMHDBIE COEAMHEHUA BPC eOS

4 N\

000 “BMBTEX"127254, MockBa, yn. PyctaBenu 4. 14, ctp. 6; Ten./daKkc +7 (495) 755-91-45
www.vivtech.ru www.shop.vivtech.ru info@vivtech.ru



@0OS  BbICTPOCHEMHbIE COEAVHEHWA BPC WA L

A21

CEPUA

TexHuueckan cneundurkaums / Technical Specification
[OunanasoH Temnepatyp / Temperature Range

-20°C +100°C (-4°F +212°F)

Pabouee pnaBneHue / Working Pressure
0-35 bar (0 - 508 PSI)

MpoTok / Flow Capacity
NW 5

CraHpapTHas Bepcua / Standard Version

JlatyHb / Brass
Mpoxknagku HuTpwun NBR / Nitrile (NBR)

MaTtepuan / Material

Kopnyc my¢Tbl / Coupler Body :JlaTyHb / Brass
Btynka / Sleeve :JlaTyHb / Brass

KnanaH/ Valve :JlaTyHb / Brass

MpyxuHbl / Springs : HepaBetowwan ctanb

lpaduK 3aBNCMMOCTY NPOTOKa OT NAfEHUsA faBAeHUA
Flow Rate vs Pressure Drop Graph

Stainless Steel
Oukcmpytowee konbuo / Locking Ring : Hepagetowas ctanb
Stainless Steel

Wapwkn / Balls : Paslanmaz Celik
Stainless Steel Bo3spayx 6 6ap / Air 6 Bar
Mpoknagku / Seals :Hutpun NBR / Nitrile (NBR) a 07 7
Hunnens / Plug :NatyHb / Brass . 08
3 = 05
So 04 ~
Onuwn / Options %% 03 /
XpommpoBaHue / Chrome Plated 1o @2 /
HukennposaHnue / Nickel Plated T3 01 #
Mpoknagku u3 ButoHa Viton / Viton Seal U % 2% %00 300 70w 1200 1400
MpoTok, n/muH. / Air Flow L/min
O6nactb NpMeHeHuUs:
« CucTeMbl OXNaxaeHns CBapoYHOro o6opyoBaHNs,
« [IHeBMaTMyecKne CoefUHEHNA Ha CTaHKax, MalWWHaxX 1 T.4.
« Bo Bcem 060pyaoBaHmmn paboTatoLem ¢ NOMOLLbIO Boma/ Water
COKaToro BO3ayxa g 40 7
« Bce npombiLuneHHble YyCTaHOBKU 11 CBOPOUHbIE NVHIN S 35
s g 3.0
Using Area g g 28 V4
« The welding of the cooling system, gc o 20 7
- Cooling system E % 15 7
« Pneumatic connections on the machine, étg 10

«In all machines operating by air,
« All industrial plants are used in the
assembly line.

0 3 6 9 12 15 18 21

MpoTok, n/muH / Water Flow L/min

—

—>O-

=O>-+<O-

000“BWMBTEX"127254, MockBa, yn. PyctaBenu 4. 14, ctp. 6; Ten./dakc+7 (495) 755-91-45
www.vivtech.ru www.shop.vivtech.ru info@vivtech.ru



\Y/

MydTa Ha Hapy»kHol pe3bboii / Male Thread Sockey
yorasareprcip o

EI/I BTC)E
vivtech

BbICTPOCBEMHbIE COEAVHEHWA BPC

H

=
|

@S

A21

CEPV/A

MydTa B BHYTpeHHeln pe3bboi

—

MydTa nog wnaHr / Hose Tail Socket

=7

MydTa Ans nnacTMaccoBbIX WAAHroB

1
|

MydTa ana nnactmaccoBbix WwnaHros / Plastic Hose Coupling

E

ApTl/IK mn d di1 L SW
Order No
A21EGB 10 BSP 1/8” 16 36 14
A21EGB 13 BSP 1/4” 16 38 17
A21EGB 17 BSP 3/8” 16 38 19
A21 EGB M12 M12x1,5 16 39 17
A21 EGB M14 M14x1,5 16 39 17
ApTuKyn d di1 L SW
Order No
A21DGB 10 BSP 1/8” 16 37 14
A21DGB 13 BSP 1/4” 16 38 17
A21DGB 17 BSP 3/8” 16 38 19
A21 DGB M12 M12x1,5 16 39 17
A21 DGB M14 M14x1,5 16 39 17
ApTVIK mn d d1 L SW
Order No
A21 HGB 04 4 mm 1/6” 16 46 14
A21 HGB 06 6 mm 1/4" 16 46 14
A21 HGB 08 8 mm 5/16” 16 46 14
A21 HGB 09 9mm 5/14” 16 46 14
A21HGB 10 10 mm 3/8” 16 46 14
ApTVIK mn d d1 L SW
Order No
A21 PGB 04 4x6 mm M10x1 16 41 14
A21 PGB 06 6x8 mm M12x1 16 41 14
ApTVIKyJ'I d d1 L SW
Order No
A21 SGB 04 4x6 mm M10x1 16 53 14
A21 SGB 06 6x8 mm M12x1 16 53 17

000 “BUBTEX"127254, MockBa, yn. PyctaBenu 4. 14, ctp. 6; Ten./daKc+7 (495) 755-91-45
www.shop.vivtech.ru

www.vivtech.ru

info@vivtech.ru




b @ BbICTPOCBEMHBIE COEAVNHEHWA BPC o e
euUS A \/ L Kisss
&
Hunnenb Ana nnacTMaccoBbIX LWAAHIOB 1 NaHenbHOro MoHTaxa / Panel Mount Plastic Hose Plug
ApTuKyn d L SwW
Order No
L — | A21 MR 04 4 mm M10x1 50 14
A21 MR 05 5 mm M10x1 50 14
| U. §. [[”] A21 MR 06 6 mm M12x1 50 14
A21 MR 08 8 mm M12x1 50 14
j A21 MR 09 9 mm M12x1 50 14
SW, A21 MR 10 10 mm M14x1 50 17
Hunnenb Ana nnacTMaccoBbIX WAAHroB ¢ Npy»uHol / Plastic Hose Plug with Spring
ApTuKyn d L SW
Order No
A21 YR 04 4x6 mm M10x1 115 14
A21 YR 06 6x8 mm M10x1 120 14
e
Hunnenb ¢ HapyxHoi pe3bboin / Male Plug _
ApTukyn d L SW
Order No
- A21ER10 BSP 1/8" 28 12
A21ER13 BSP 1/4” 28 15
! 5 A21ER 17 BSP 3/8" 28 17
' A21 ERM10 M10x1 28 12
A21 ERM12 M12x1,5 28 14
W A21 ER M14 M14x1,5 28 17
Hunnenb ¢ BHYTpeHHel pe3bboii/ Female Plug _
ApTuKyn d L SW
Order No
L A21 DR 10 BSP 1/8" 25 14
— A21DR 13 BSP 1/4” 26 17
'I_ A21DR 17 BSP 3/8” 27 19
o & A21 DRM10 M10x1 26 14
_I_ A21 DRM12 M12x1,5 27 17
7 A21 DRM14 M14x1,5 27 17
SW,
168 000“BWBTEX"127254, Mocksa, yn. Pyctasenu 4. 14, ctp. 6; Ten./dakc 47 (495) 755-91-45

www.vivtech.ru

www.shop.vivtech.ru

info@vivtech.ru



VI s BbICTPOCBHEMHBIE COEAVUHEHWSA BPC ecOS
A21

CEPUA
MyddTa Ana nNacTMaccoBbIX WAHFOB M NaHeNbHOro MoHTaxa / Panel Mount Plastic Hose Coupling
ApTuKy”n d d1 L SW
Order No
L A21 MGB 04 4 mm M10x1 16 60 14
A21 MGB 05 5 mm M12x1 16 60 14
A21 MGB 06 6 mm M12x1 16 60 17
A21 MGB 08 8 mm M12x1 16 60 17
A21 MGB 10 10 mm M14x1 16 60 17
MyddTa Ana nnacTmMaccoBbIX WaHroB ¢ NpyxuHon / Plastic Hose Coupling with Spring
ApTukyn d d1 L SW
Order No
A21YGB 04 4x6 mm M10x1 16 125 14
A21 YGB 06 6x8 mm M10x1 16 130 14
Hunnenb nop wnaxr / Hose Plug _
ApTrKy”n d L
Or%er N)cl)
- A21 HR 04 4mm 1/6" 32
A21 HR 05 5mm 1/5" 32
I A21 HR 06 6 mm 1/4" 32
7 4 A21 HR 08 8 mm 5/16" 32
L A21 HR 09 9mm 5/14” 32
A21HR 10 10 mm 3/8" 32
Hunnenb gna nnactmaccoBbIx wnaxros / Plastic Hose Plug
o
ApTukyn d L SW
Or%er N)zl)
A21 PR 04 4x6 mm M10x1 32 14
A21 PR 06 6x8 mm M12x1 32 17
Hynnenb ana nnacTMaccoBbIX LWNAHrOB U NaHeNbHOro MoHTaxa / Panel Mount Plastic Hose Plug
ApTuKyn d L SW
Order No
A21 SR04 4x6 mm M10x1 44 14
A21 SR 06 6x8 mm M12x1 44 17
000”BWBTEX"127254, Mocksa, yn. PyctaBenu a. 14, cTp. 6; Ten./dakc +7 (495) 755-91-45 169

www.vivtech.ru www.shop.vivtech.ru info@vivtech.ru



@0S  BbICTPOCHEMHbIE COEAVHEHVA BPC VA S

A21

CEPUA
Hunnenb nog wnawr / Hose Plugs _:
ApTukyn d L SW
Order No
A21 HRB 04 4mm 1/6" 50 14
A21 HRB 05 5mm 1/5" 50 14
A21 HRB 06 6 mm 1/4” 50 14
A21 HRB 08 8 mm 5/16” 50 14
A21 HRB 09 9 mm 5/14" 50 14
A21HRB 10 10 mm 3/8” 50 14
Hunnenb Ans nnactmaccoBbix wnaHros / Plastic Hose Plug
ApTuKyn d L SW
L Order No
A21 PRB 04 4x6 mm M10x1 46 14
A21 PRB 06 6x8 mm M12x1 46 14

SW

Hunnenb AnA NNacTMaccoBbIX WAHIOB 1 NMaHenbHOro MoHTaxa / Panel Mount Plastic Hose Plug

SW

L ' ApTuKyn d L

Order No
A21 SRB 04 4x6 mm M10x1 58 14
& A21 SRB 06 6x8 mm M12x1 58 17

MydTa Ana nnacTmMaccoBbIx WNaHros ¢ npyxuHon / Plastic Hose Coupling with Spring

ApTuKyn d L SW

Order No
) A21 YRB 04 4x6 mm M10x1 130 14
& A21 YRB 06 6x8 mm M10x1 135 14

d
54W7L

000 “BUBTEX"127254, MockBa, yn. PyctaBenu 4. 14, ctp. 6; Ten./daKc+7 (495) 755-91-45
www.vivtech.ru www.shop.vivtech.ru info@vivtech.ru



I 5

Hynnenb nog WwnaHr 1 naHenbHOro MoHTaxa / Panel Mount Standart Hose Plug

Hunnenb c HapyHoI pe3bbon / Male Plug

SW

Hunnenb c BHYTpeHHel pe3bboit / Female Plug

L

L__
I
e

BbICTPOCBEMHbIE COEAVHEHWA BPC

@S

ol
ApTukyn d L SW
Order No
A21 MRB 04 4 mm M10x1 64 14
A21 MRB 05 5 mm M10x1 64 17
A21 MRB 06 6 mm M12x1 64 17
A21 MRB 08 8 mm M12x1 64 17
A21 MRB 09 9 mm M12x1 64 17
A21 MRB 10 10 mm M14x1 64 17
ApTukyn d L Sw
Order No
A21ERB 10 BSP 1/8” 40 14
A21ERB 13 BSP 1/4” 42 17
A21ERB 17 BSP 3/8” 42 19
A21 ERBM10 M10x1 42 14
A21 ERB M12 M12x1,5 43 17
A21 ERBM14 M14x1,5 43 17
ApTukyn d L SW
Order No
A21DRB 10 BSP 1/8” 41 14
A21DRB 13 BSP 1/4" 42 17
A21DRB 17 BSP 3/8” 42 19
A21 DRB M10 M10x1 42 14
A21 DRBM12 M12x1,5 43 17
A21 DRBM14 M14x1,5 43 17

www.vivtech.ru

000 “BUBTEX"127254, Mocksa, yn. PyctaBenu a. 14, cTp. 6; Ten./dakc +7 (495) 755-91-45
www.shop.vivtech.ru

info@vivtech.ru






